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Directions (Q. 1-5):  Direction for Question

Read the following information carefully to answer the questions asked

Total marks obtained by a student in unit test 1 and unit test-2

पूछे गए प्रश्न ों के उत्तर देने के लिए लनम्नलिखित जानकारी कन ध्यानपूर्वक पढ़ें यूलनट टेस्ट 1 और

यूलनट टेस्ट -2 . म़ें एक छात्र द्वारा प्राप्त कुि अोंक
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Q.1 :- What is the respective ratio between the marks obtained by student in Hindi in test -1 
to that in Sanskrit in test -2 ?
परीक्षा -1 म़ें छात्र द्वारा ल ोंदी म़ें प्राप्तअोंकन ोंऔर परीक्षा -2 म़ें सोंसृ्कत म़ें प्राप्तअोंकन ों के बीच
सोंबोंलित अनुपातक्या  ै?

(A)15:16 (B)20 : 27 (C)18 : 23 (D)19 : 24 (E)None of these
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Q.2:-The marks obtained by the student in English in test-1 is approximately what percent 
more than that in History in test-2
परीक्षार्थी द्वारा परीक्षा-1 म़ें अोंगे्रजी म़ें प्राप्तअोंक, परीक्षा-2 म़ें इलत ास के अोंक से िगभग लकतने
प्रलतशत अलिक  ै?

(A)62% (B)71% (C)66% (D)57% (E)None of these
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Q.3 :-The marks obtained by the student in Sanskrit in test -1 is approximately what 
percent of that in English in test -2 ?
परीक्षा -1 म़ें छात्र द्वारा सोंसृ्कत म़ें प्राप्तअोंक, परीक्षा -2 म़ें अोंगे्रजी म़ें प्राप्तअोंकन ों का िगभग
लकतना प्रलतशत  ै?

(A)43% (B)37% (C) 32% (D)48% (E)None of these
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Q.4 :-What is the difference between the marks obtained by the student in History in test-1 
and test-2?
इलत ास म़ें परीक्षार्थी द्वारा टेस्ट-1 और टेस्ट-2 म़ें प्राप्तअोंकन ों के बीच लकतना अोंतर  ै?

(A)88 (B)94 (C)98 (D)91 (E)None of these
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Q.5 :-What is the sum of the marks obtained by the student in Math in test-1 and test -2 ?

छात्र द्वारा परीक्षा-1 और परीक्षा-2 म़ें गलित म़ें प्राप्तअोंकन ोंका यनग लकतना  ै?

(A)372 (B)378 (C)376 (D) 371 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

132 ÷ 11 × 18 + 142 = ? + 112

(A) 286 (B)276 (C) 246 (D)236 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

540 + 326+ 249 − 378 = ?

(A)714 (B)747 (C)737 (D)767 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

21³ + 1640 ÷√64 − 19² = ?

(A) 9165 (B)9115 (C)9105 (D)9205 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

(√2116 + 154  )² − 71= ?

(A)39829 (B)39929 (C)30929 (D)39249 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

1230 ÷ 6 ÷ 5 + 135 = ?

(A)156 (B)166 (C)162 (D) 176 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

380 × 40 % + 192 × 75% − 1160= ?

(A)216 (B)156 (C)126 (D)116 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

234 ÷ 9 × 24 + √196 = ?

(A)628 (B)638 (C) 538 (D)528 (E)624



\
What value should come in the place of question mark(?)in the following questions?

12 × 24 + 46² − 624÷ 12= ?

(A)2182 (B)2152 (C)2352 (D)2252 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

22.43 + 21.46  + 43.21 − 31.22 = ?

(A) 55.88 (B)51.88 (C)54.88 (D)52.88 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

16³+ 3⁴ + 10% of  8000 − 2061= ?²

(A) 44 (B) 1936 (C) 54 (D) 2961 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

11 . 48 , 10 .6 ,  4.12 ,  3.824 ,  4.7648 , ?  

(A)5.23996 (B)5.95296 (C)5.59296 (D)5.25996 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

12 . 18 , 9 , 9 , 13.5 , 27 , ? 

(A)67.5 (B)65.7 (C)76.5 (D)75.5 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

13 . 25 , 88 , 124 , 187 , 223 , ? 

(A)286 (B)259 (C)268 (D)826 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

14 . 14 , 56 , 252 , 1260 , 6930 ,  ? 

(A)31815 (B)38115 (C)41580 (D)45180 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

15 . 16 , 65 , 264 , 1065 , ?

(A) 2470 (B)2676 (C)4276 (D) 4126 (E)None of these



\Directions (Q. 26-30):Direction for Question

Study the following graph carefully to answer the question given below? Demand and 

production of companies
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Q.26 :- What is the ratio of the companies having more demand than production to those 
having more production than demand?
उत्पादन से अलिक माोंग र्ािी कों पलनयन ोंका माोंग से अलिक उत्पादन र्ािी कों पलनयन ों से अनुपात
लकतना  ै?

(A)1 : 2 (B)2: 3 (C)2: 1 (D)3:2 (E)None of these
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Q.27 :- What is the difference between the average demand and average production the 
companies (in lakh tones)? (Approx)
कों पलनयन ोंकीऔसत माोंगऔरऔसत उत्पादन (िाि टन म़ें) के बीचक्या अोंतर  ै? (िगभग)

(A)200 (B)250 (C)275 (D)325 (E)300
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Q.28 :- The demand of company B is what percentage of the production of company F?

कों पनी B की माोंग कों पनी F के उत्पादन का लकतना प्रलतशत  ै?

(A)50% (B)70% (C)80% (D)60% (E)78%
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Q.29 :- The production of company A is approximately what percent of the demand of 
company C?
कों पनी A का उत्पादन कों पनी C की माोंग का िगभग लकतना प्रलतशत  ै?

(A)50% (B)55% (C)60% (D)70% (E)65%
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Q.30 :- The production of companies C and D taken together is what percent of the total 
demand of A and E?
कों पलनयन ोंC औरD कन लमिाकर उत्पादन, A और E की कुि माोंग का लकतना प्रलतशत  ै?

(A)80% (B)100% (C)120% (D)150% (E)160%



\Q.16 :-Meenu has some money. She can buy 40 books or 90 pens with it. She keeps 20% of  
the money for food and with the remaining buys 36 pens and some books. Find the number 
of books she buys.
मीनू के पास कुछ पैसे  ैं। र् इससे 40 लकताब़ें या 90 पेनिरीद सकती  ैं। र् 20% पैसे िाने के
लिए रिती  ै और शेष के सार्थ 36 किमऔर कुछ लकताब़ें िरीदती  ै। उसके द्वारा िरीदी गई
पुस्तकनोंकी सोंख्या ज्ञातकीलजए।

(A)15 (B)14 (C)18 (D)16 (E)12



\Q.17:-A fruit vendor sells apples and oranges and gets equal revenue from each. He gets ma 
profit of 20% on each apple and a profit of 25% on each orange. If the ratio of the number 
of oranges sold to the number of apples sold is 3:2, what is the ratio of the cost price of an 
orange to that of an apple?
एकफि लर्के्रता सेबऔरसोंतरे बेचता  ै और प्रते्यक से समान राजस्वप्राप्तकरता  ै। उसे
प्रते्यक सेब पर 20% कािाभऔर प्रते्यकसोंतरे पर 25% कािाभ प्राप्त नता  ै। यलद बेचे गए
सोंतरन ोंकी सोंख्याका बेचे गए सेबन ोंकी सोंख्या से अनुपात 3: 2  ै, तन एकसोंतरे के िागत मूल्यका
एक सेब के क्रय मूल्य से अनुपातक्या  ै?

(A) 25:16 (B)16:25 (C)36:25 (D)49:36 (E)None of these



\Q.18 :- In how many ways can the walls of a cuboidal box be painted using six different m 
colours using one colour for each wall if six different symbols are carved on the box with 
one on each wall?
यलद प्रते्यक दीर्ार पर एक के सार्थछ अिग-अिगप्रतीकन ोंकन बॉक्सपरउकेरा गया  ै, तन
प्रते्यकदीर्ार के लिए एक रोंगका उपयनगकरके छ अिग-अिगरोंगन ोंका उपयनगकरके एक
घनाकार बॉक्सकी दीर्ारन ोंकन लकतने तरीकन ों से लचलत्रत लकया जा सकता  ै ?

(A) 240 (B)560 (C)720 (D)360 (E)180



\Q.19 :- Rohit can row a boat 65Km upstream and 130Km downstream in 23 hours, whereas 
m he can swim 45Km upstream and 104Km downstream in 17 hours. Find the speed of 
boat in still water and the speed of stream.
रनल त एकनार्कन िारा के प्रलतकूि 65 लकमीऔरिारा के अनुकूि 130 लकमी 23 घोंटे म़ें तैर
सकता  ै, जबलकर् िारा के प्रलतकूि 45 लकमीऔरिारा के अनुकूि 104 लकमी 17 घोंटे म़ें तैर
सकता  ै। शाोंत जिम़ें नार्की गलतऔरिारा की गलत ज्ञातकीलजए।

(A)4km/h,9km/h (B)8km/h, 5km/h (C)9km/h, 4km/h (D)5km/h, 8km/h (E)10km/h, 3km/h



\Q.20 :- A box contains 4 red, 5 black and 6 green balls. 3 balls are drawn at random. What is 
the probability that all the balls are of same colour?
एकबॉक्सम़ें 4 िाि, 5 कािीऔर 6  री ग़ेंद़ें  नती  ैं। 3 ग़ेंदन ोंकन यादृखिकरूप से लनकिा लकया
गया  ैक्या सोंभार्ना  ै लकसभी ग़ेंद़ें एक  ी रोंग की  ैं?

(A)33/455 (B)34/455 (C)44/455 (D)47/455 (E)None of these



\



\In a school number of students in 9th and 10th class is in the ratio 6:11. If 60% of total students 
in class 9th are boys and 52% of total students in class 10th are boys, then find total girls in 
both the class together is approximately what percentage of total students in both the classes?
9 र्ी ोंऔर 10 र्ी ोंकक्षा म़ें लर्द्यालर्थवयन ोंकी सोंख्या 6: 11 के अनुपात म़ें  ै। यलदकक्षा 9 र्ी ोंम़ें कुि
लर्द्यालर्थवयन ोंम़ें से 60% िड़के  ैं और 10 र्ी ोंकक्षा म़ें कुि लर्द्यालर्थवयन ों के 52% िड़के  ैं, तन दननन ों
कक्षाओों म़ें कुि िड़लकयन ोंकी सोंख्या, दननन ोंकक्षाओों म़ें कुि लर्द्यालर्थवयन ोंका िगभग लकतना प्रलतशत
 ै?

(A)55.2% (B)45.2% (C)35.2% (D)27.5% (E)32%



\In an office some persons are officers and some are non-officer. The number of officers is 30. 
The average salary of officers is Rs.1040 and that of non-officers is Rs.400. If the average salary 
of entire staff in office (officers + Non officers) is Rs.500 per month, then what is the average of 
total number of employees (officers + Non - officers) in the office 
एककायाविय म़ें कुछव्यखिअलिकारी  ैं और कुछ गैर अलिकारी  ैं। अलिकाररयन ोंकी सोंख्या 30  ै।
अलिकाररयन ोंकाऔसत रे्तन 1040 रुपये  ै और गैर अलिकाररयन ोंका रे्तन 400 रुपये  ै। यलद
कायाविय म़ें सभीकमवचाररयन ों ( अलिकाररयन ों+ गैर-अलिकाररयन ोंकाऔसत रे्तन 500 रुपये प्रलत मा 
 ै, तन कायावियम़ें कमवचाररयन ों (अलिकाररयन ों+ गैर-अलिकाररयन ों) की कुिसोंख्याकाऔसतक्या  ै?

(A)96 (B)76 (C)86 (D) 46 (E)None of these



\A work is started by a man and it is assumed that he will finish the work in 11 days if working 
alone. Each subsequent day a new man joined the work. In how many days the four times the 
original work will be completed, if after the 8th day from the starting of the work no new man 
will be further added?
एककाम एकआदमी द्वारा शुरू लकया जाता  ै और य माना जाता  ै लक र् अकेिे कामकरने पर
11 लदनन ों म़ें कामित्मकर देगा। प्रते्यकबाद के लदन एकनयाआदमी काम म़ें शालमि हुआ। प्रारों लभक
कायव के चार गुने कायव कन लकतने लदनन ों म़ें पूरा लकया जाएगा, यलदकायव शुरू  नने के 8 ऱ्ें लदन के बाद
कनई नयाआदमीआगे न ी ोंजनड़ा जाएगा?

(A) 5 (B)6 (C)7 (D)8 (E)9



\Instead of normal weighing scale a shopkeeper used forged scale. He used 1.4 kg scale while 
buying and 840g scale while selling, what will his overall profit percentage, if in the end he 
offers 10% discount?
सामान्यतौि पैमाने के बजाय एक दुकानदार जािी पैमाने का उपयनगकरता  ै। उन्न ोंने िरीदते
समय 1.4 लकिन से्किका इसे्तमाि लकयाऔर बेचते समय 840g पैमाने पर, उनका कुििाभ
प्रलतशतक्या  नगा, अगरअोंत म़ें र् 10% छूट प्रदानकरता  ै?

(A)30% (B)40% (C)50% (D) 60% (E)70%



\There are 3 points P, Q and R in a straight line, such that point Q is equidistant from points 
P and R. A man can swim from point P to R downstream in 24 hours and from Q to P 
upstream in 16 hours. Find the ratio of speed of man in still water to speed of stream?
एकसीिी रेिा म़ें 3 लबोंदु P, Q औरR  ैं, इस प्रकार लक लबोंदु Q, लबोंदु P औरR से समान दूरी पर  ै।
एकआदमी लबोंदु P से R अनुप्रर्ा कीओर 24 घोंटे म़ें औरQ से P उर्ध्वप्रर्ा 16 घोंटे म़ें तैर सकता
 ै। शाोंत जिम़ें मनुष्यकी गलत तर्था िारा की गलतका अनुपात ज्ञातकीलजए।

(A)1 : 7 (B) 2: 7 (C)7 : 1 (D) 7 : 2 (E)None of these



\Shilpa took a loan of Rs. 15,00,000 to purchase a car. The company charges compound 
interest at 20% per annum. She promised to make the payment after three years. But for 
the last year of loan tenure, the company increased the rate of interest by 25% from the 
previous one. Then the extra amount which she had to pay is what per cent of the amount of 
loan taken by her?
लशल्पा ने रुपये काऋि लिया।कारिरीदने के लिए 15,00,000।कों पनी प्रलत र्षव 20% पर चक्ररृ्खिब्याजर्सूिती  ै।
उसने तीन साि बाद भुगतान करने का र्ादा लकया। िेलकनऋिकायवकाि के अोंलतम र्षव के लिए, कों पनी ने लपछिे
एक सेब्याजदरकन 25% बढा लदया। लफर उसे जन अलतररि रालश देनी र्थी, र् उसके द्वारा लिए गएऋिकी रालशका
लकतना प्रलतशत  ै?

(A)6.5 (B)7.2 (C)4.5 (D)5.2 (E)None of these



\|
A completes a work in 25 days working 8 hours a day. A started the work and worked for one day and 
next day B joined him who is twice as efficient as A. On next day C also joined them who is thrice as 
efficient as A and this process continues. In how many days total work will be completed if they work 4 
hour/day.
A लकसी कायव कन 25 लदनन ों म़ें करता  ै यलद र् प्रलतदन 8 घणे्ट कायव करता  ै। A कायव प्रारम्भकरता  ै और एक लदनकायव
करता  ै तर्था अगिे लदन B शालमि  न जाता  ै जन लक A से दुगुना सक्षम  ै। अगिे लदन C की कायव म़ें शालमि  न जाता  ै
जन लक A का लतगुना सक्षम  ै और य प्रलक्रया इसी प्रकार चिती र ती  ै। कुि कायव लकतने लदनन ों म़ें समाप्त  नगा यलद रे्
एकसार्थ लदन म़ें 4 घणे्ट कायव करते  ैं।

(A)4 7/15days (B)5 5/7days (C)5 3/4days (D)6 1/2days (E)None of these



\|The bus fare for one person is Rs.420 from Haridwar to Haryana and the train fare between the same 
places for one person is equal to three fourths of the bus fare for two persons between the same 
places. What is the total fare paid by 3 persons travelling by bus and 4 persons travelling by train 
between the two places?
एकव्यखिका  ररद्वार से  ररयािा बसका लकराया 420 रु.  ै और उन्ी ों स्र्थानन ों के बीच एकव्यखि
का टर ेन का लकराया दन व्यखियन ोंका उन्ी ों स्र्थानन ों के मध्य के बस के लकराये का तीन चौर्थाई  ै। 3
व्यखियनों द्वारा बसका अदा लकया गया लकराया तर्था 4 व्यखियनों द्वारा टर ेन का कुि लकराया ज्ञात
कीलजये ?

(A)3642 (B)4096 (C)2890 (D)3780 (E)None of these



\|The speed of a boat in still water is 16 km/hr. and the speed of the current is 2 km/hr. It takes a total of 
9.5 hours to row upstream from Point A to B and downstream from Point B to C. If the distance 
between Point A to C is one-third the distance between Point B to C, then what is the total distance 
covered by the boat from Point A to B and B to C?
एक नार् की खस्र्थर जि म़ें चाि 16 लकमी./घोंटा  ै और िारा की चाि 2 लकमी./घोंटा  ै | य लबोंदु A से
लबोंदु B तकऊर्ध्वप्रर्ा जाने म़ें और लबोंदु B से लबोंदु C तकअनुप्रर्ा जाने म़ें कुि 9.5 घोंटे िेती  ै। यलद
लबोंदु A से लबोंदु C के बीच की दूरी लबोंदु B से लबोंदु C के बीच की दूरी का एक लत ाई  ै, नार् द्वारा लबोंदु A 
से B और B से C तक तय की गयी कुि दूरीक्या  ै ?

(A)136km (B)147km (C)129km (D)144km (E)None of these



\|
In a partnership A invest Rs. 34800 and was joined by B after 6 months with investment of Rs. 43500. 
After another 6 months C also joined them with investment of Rs. 58000. If after two years total profit 
of Rs. 25270 is obtained. Find the share of B.
एकसाझेदारी म़ें A ने 34800 रूपये लनरे्श लकये तर्था 6 म ीनन ों बाद B, 43500 रूपये लनरे्श के सार्थव्यापार म़ें शालमि हुआ
औरअगिे 6 म ीऩें बाद C भी 58000 रूपये के लनरे्श के सार्थव्यापार म़ें शालमि हुआ। यलद 2 र्षव के अन्तम़ें 25270 

रूपये का िाभ हुआ। B का ल स्सा ज्ञातकीलजए।

(A)7500 (B)76800 (C)8550 (D)8210 (E)None of these



\|Sanju covers 20 km distance with a speed of 5 km/h, then he covers the next 15 km with a speed of 3 
km/h and the last 10 km is covered by him with a speed of 2 km/h. Find out his average speed (in 
km/hr) for the whole journey. (Approx)
सोंजू ने 5 लकमी / घोंटा की गलत के सार्थ 20 लकमी की दूरी तय की, लफर र् अगिे 15 लकिनमीटर की
दूरी 3 लकमी / घोंटा की रफ्तार से तय करता  ै औरआखिरी 10 लकमी की दूरी 2 लकमी / घोंटा की
रफ्तार से तय की जाती  ै। पूरी यात्रा के दौरान उसकीऔसत गलत (लकमी / घोंटा) म़ें ज्ञात कीलजये।
(िगभग)

(A)4.28 (B)5.15 (C)2.96 (D)3.21 (E)3.67



\|In mahendra the average salary of the entire staff in a office is Rs 24000 per month.The average salary of 
officers is Rs 92000 and of non officers is Rs 22000. If the number of officers is 15, then find the no of 
non-officers in the office.
म ़ेंद्रा के एककायाविय म़ें पूरे स्टाफकाऔसत रे्तन 24,000 रुपये प्रलत मा  ै । अलिकाररयन ोंका
औसत रे्तन 92000 रुपये और गैर अलिकाररयन ोंकाऔसत रे्तन 22,000 रुपये  ै। यलद अलिकाररयन ों
की सोंख्या 15  ै, तन कायाविय म़ें गैर-अलिकाररयन ोंकी सोंख्या ज्ञात कीलजये ।

(A)505 (B)610 (C)575 (D)476 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

11 . 18  , 22 , 40 , ? , 102 , 164

(A)60 (B)64 (C)63 (D)56 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

12 . 22 , 43 , 85 , ? , 232

(A)136 (B) 142 (C)124 (D)85 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

13 . 5 , 8 , 18 , 34 , ? , 138

(A) 85 (B)68 (C)70 (D)69 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

14 . 125 ,  170 , ? , 395 , 575 , 800

(A) 230 (B)225 (C)260 (D)250 (E)265



\
What should come at place of the question mark (?) in the following number series ?

15 . 196 , 221 , 257 , ? , 370 , 451

(A)340 (B)301 (C)320 (D) 306 (E)312



THANKS


